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Effectue ces opérations :

ivrets 2, 10, 5 4P

12+6= 15+4= 15+8=
4+8= 3+13= 7+7=
12+7= 5+9= 11+8=
14+6= 4+14= 6+10=
8 +6= 16+3 = 8 +9 =

10-8 = 11-3= 9—7=
17-9= 14— 6= 18-9=
15-4= 17-8= 15-10=
13-6= 12-6= 5 _4—
§ 3= 15-7= 87—
2x10= 8x 2= 3x2=
3x5= 9x 5= 7x2=
9x2= 7x5= 6x2=
6x5= 4x10= 4x5=
5x5= 4x2= 8 x 5=
Quelle heure est-il 2
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vrets 5P

(I?ffGeRcil’r(t)J/eMéeszglriéroﬁons : ﬂz@ug H@S H[

20 + 60 = 35+40 = 50 +8 =
40 + 60 = 30 +70 = 25 +25=
72+8= 20 +25 = 75 +75 =
14 + 65 = 40+ 19 = 16 + 80 =
28 +36 = 76+ 14 = 35+35=

10-8= 13-3= 9-7=

17-9= 14—-6= 15-9=
15-5= 17-8= 15-10=
23 -2 = 26 —-6= 25-10=
80 —-10= 75 -4 = 48 -7 =
7x6= 8x 4= 3x9=
8x 7= 9x 6= Tx7=
7x3= 7x9= 6x3=
6x9= 2x10= 4x6=
5x6= 4x7= 4x4=

Combien de pattes ont.. ¢

=

une pieuvre : 1 x8 =

S R

deux pieuvres : 2x 8 =

%@%@%

trois pieuvres : 3x 8 =.....

S S0 SR O

quatre pieuvres : 4 x 8 =

cing pieuvres : 5x 8 =.....

S8 8 S
s

SIX
pieuvres :
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Effectue ces opérations :

Caleal mental : fiche 32 6P
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